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1. ���	�� ��	��
	���� �����	��  
 
 �!� ������
��� ��"�, ����������	� ����
���	� ����
������ 

����, � ���� � ������, �� ������ ����
��� ��� � ��������, ��#��  
�
��	 - � 
�������� � �������� ����� �	
��.  

��!�	 �
	�	�� ��	
��: �
	���	��	 �����	�	 �	$ ��� 
�������� 

	�
�. ���	 � ��� �������	 - ����
. %����� 
����� - �������. &��� 
�	���	'�� 
�
���	, ���� "� ��� ������� 
����� ������ ��#�	��� 
�
��	, 
�	���	�� �	��
��	�� (�������
	�� 	#� �
	���	��), �� ����� ����������� 
��#��	�.  

�	������� �

	����� ���� �	��
���� �#����
'$ �����"��� �

	������ 

����	������� 	�	
��� �
	���	���� �����	� � ���������� � 
����	������ 
	�	
���� ������� (������� 	#� �� �
	���	����) �����	�.  

(
	���	��� �����	�� � ���������� � �������� �	'�� 

� �����
� 
������
����.  

����� � ��� ��
��	$ � ����, "� �
	���	��	 �����	�	 � 
����������	����� ��
��	��� ��!� �	#�������	�� ��	
����� #���-�
� ��
�
� 
�����	����� ���������� (���������� - ���#��!���). (�� ����� � ������ 
��
����� �����	������� ���������� ����
�$���� ����$�� ���!���� ��% 
�����	��, "� ���#����� ��	�����	�� ��� ��#��� ��$� 	#� ����� ����� 
�
	���	���� �����	�� �
� ��
����� �������.  

����� ���#
������ �
	���	���� ��#�	���� ���	������ - ��!
������ 
��������	��� (�����	���) ����� 	#� ��)������'�	��� (�����
����) �#������� 
��������.  

 
2. �	�����
��� ����������� ��	��
	��� �����	��  
�	 ���. 3.17 ��
	�	�� 
����	����� ����� �	���������� �
	���	���� 

��#�	���� ���	������ �'����� �����, "� ��	��
� ����	���� ����
� 
�	������	��� � �	���	�, �
� ��������'���� ���	 ��� ����� 
��#��	����� 
��������� � ���������� �	���
���. 



*�� ����	����: 1, 2, 3, 4 - ��#�	��� 
�
��	 (1 � 4 - �����	
���; 2 � 3 - 
�	��
���; � - ����
�; 0 - ����
.  

�	��	!���, "� ����	  � �������� ��  ����� �, �
"�  ��������  
z2=z3.  

+� ��� ����� (� � �) ������	�
�'�� �	
 ��	��� �
	���	���� ���	���� 
%!���	 (� ������������� � ������������ �	��
��	��).  

,���� �, � � � ������	�
�'�� �
	���	��� ���	����� %	���	.  
 �� 
����
��	$���� ��!��, ��� ���� �	'�� �� �	�� �	
 ��	�� �����	
��� �������� 
���� (	#� �� ������ - )����
� -�

��	). +� � ���
�!�
� �����	��' �
� ������ 
�	�	
���� �	���.  

 

.��. 3.17. ,���� �	���������� �
	���	���� ��#�	���� ���	������  
  

-�� ���	�� �	 ���. 3.17 ���	����� �	'�� �� ��� ��������� �	
	. (�� 
����� ��!�	 
��#����	��: ��	 ����� - ���� ����� (��������	��� �����); ���� 
���� - ��	 ������ (��)������'�	��� �#������� ��������); ���� �	
 - 
���������, ������ �	
 - ����, ������ �	
 - ����� (����
��� 	#� ����
��'�	�, � 
�	
�!����� ��� ��
����� �����	����� ����������). 

 
 #	����, 
�!�	 ����	 �����
�$ �	#�	�� ������ #	�	�� �	��	���� �� 
��
�����	���.  



��!�	 �� ���� ��� ��
�����	��� �� � �
���� ����
���	 �	$ ��	
������ 
��	�	��� �����	������ ����
. / ����� �� ���!��� ����
��	����, 
����
������ 
����	��
� �
	���	���� ��#�	���� ���	������. 

�����	������ 	�	
�� �
	���	���� ���	������ ������'$���� �	 
������� -�

��	, �
�� ��
��	$ � ��#��� �	
�� ������� ���
�
� 
������ 
����
�����, � 
����� #� �� ���������	
��� �

	���� ����� ���� ���� 
	��
. 

 
3.  �����	
����� 	�	��� ������������ ��	��
	����  

�����	�. ��
�� �� ��� �������  ����	  
 

.���
����� ��

	����� ����� ������ (���
����) �����
� ����
	 
(����� -�

��	) �	 ���

	�� �����������	����� �
	���	����� ���	����� 
%!���	.  

��#�	���� ���	���� � ���� ����
���� (���. 3.18). �	 �����
� 
����	����: 1 - �����	
��� «�������» ��#�	��� 
�
���; 2 - «�������»; 4 - 
�����	
��� «�������» 	#� «
������» ��#�	��� 
�
���; � - «
�
���».   

 

.��. 3.18. �����	����	 ����	 �����������	�����
�
	���	����� ���	�����

(�
	���	����� ���	����� %!���	
� ������������ �	��
����)

 
 

���	���� %!���	 ����������� �� ��������	 �
��
�� ���	������. &��� 
���
� �������� ���#��� ��!�	 ����	���	�� �� )����
� (1.3) 0�#����	  

w = 3n - 2p� - p
= 3⋅ 4 - 2⋅ 4 – 2 = 2, 
��          n = 4 (1, 2, 4, H);  

p� = 4 (0 - 1, 2 - H, 0 - 4, 4 - H); 



p
 = 2 (1 - 2, 2 - 4). 
*��� "� ���	���� �	$ ��	 ������� ���#���, � ����� ��!� 

���������	���� ��
�
	 ����	������ ���
����� 
������ ����
����� ���� 
������� 
	��
. ���#����� ��	��� ��������, �
��� ��� �� ����
���� ������� 
��������
����	����.  

1����� ��	!	�� ������� �	�����
 �#���	��� ����
	 (���	� �	���� 
������).  

-����	����, "� �������� ���������� 
�����	 0 �	��
�� 2 �	$ 
�

	���� ��� (���� �#���	��� �	�
�
� �
	���� ��� � �#���	��� �	��� � ��$' 
����' �	�
�
� �����	
���� ��� ���	�����). +� ��

	��'$ ����
 �������� 
���� � ��������� ������� ���
�
�.  

-������� �������� 
�����	 � �	��
�� 2 �	$ ������ �#���	���. -�� 
���� 
	�
� �	'�� ������ �#���	��� �
 �������� ����
	, �	
 � �������� ����
	 
�. ������ ��!�	 ���#��� ��������� ������� �������
 - �������� �������� 

�����	 � (����
	) ��� 
	�
� �	��� �	'�� ������ �#���	���, ���� �	�	
���� 
�	
�� ���� (��������, "� ��'���$ 	#��
'��� 
����� ����
���� �	
��) �	��� 
��
	�� � ��	$����'��
� ��������� 
������ ����
����� �	
�� ���	����� 
�������� ����
	 �, ��#�� � ������� ������� ���
�
� 
������ ����
�����, 
��'��	��� � ����
�� �.  

%
� ����
���� � ������� ���
��� ���������� ���� ���� 
	��
 
���	����� �������� ����
	 � ���#����� ���
��� �������� ����
�, �� 
������'�� ���������� ���� ���� 
	��
 ���	�����.  

�	���� ����� ������ �����
� ����
	 ��!�	 �������������	�� �	 
���

	�� ���	������� �������
	 � ��
�����' ����

�'. 1����� ������ 
��	!	�� ��
����� ����

� ����
�� �������
	. �� ������'�� ���� 
�������
	 (��#��, ���������� ���� � ���	����� �������
	) ���������� 
������ ���	����� �������
	 ���	�
��� �#���	��� � 
�����' ����
���' 
��
������ ����

�, 	
� �����
�!���� �� �#���	��' �	����
� (��#�� ����� 
�������
���� ����

�).  

2 � ��� ����� ���#�
���? 3������
 �
 ����, �	
 � ���, 	
� 
���������	� #	���� ��������' ��
����� ����

�. ��
����� �	���� 
��������� 
����� �������
	 �#���	$���� ����� �������
���� ����

�. -�� 
���� ������ 
	�
� �������
����� ���	����� �	
�! ����!	
� ���	�
��� 
�#���	���, �����
�!�� �#���	��' ��
������ ����

� � �� 
�����' ����
���'. 
+� ���	�
��� �#���	��� ���#	 ������� � 	#��
'����� �#���	��� 
�!��� 
���
���� 
	�
�, � ���� ��!�	 ��#	���� � ������� ���
��� ��������� ��� ���� 

	��
 �������� ��
������ ����

�, "� ��	
	 ��������'. -�� �� �� �����#�
� 
���
���.  

,������� �� �
	���	����� ��#�	����� ���	����� %!���	 ����� 
������ �����
� ����
	 ��!�	 �)����
'�	�� � �	
�� �����#.  

�� ��������� 
�
������� ���� ����� 	������	�, 	������ ��
�
�	�	� 

���	� 	������	� 
�
����
� ����
� �
�
�����, ��
�� ωH, ��� ������� �� !� 
����	�
���. ��� "��	� ��
�	� ������������ 
�
��� ��������	, � 	������	 



�� ����������	, 
�� ����� �� 
� �� �������� 
����� 
�� 
�
������ ����
�� 
�
�
������, �� ��������������� (�
������ ������"���� �����	 ���"�
 

�
��
�
��� �����). #�� ����� ��������������� ������
�	� 
�
����� 
������	��� 
�
���  �  ����
�	�  �
�
�����	�,  ���  	� ��  
��������  
�����	  
�����
���� � 
������� ���������! ����
�! �
�
����� �� ��! 
����� 
������� ����
�! �
�
����� ω�.  

(���	���� ����
���� �#���	��� 
	��
 �������� ����
	 �������, 
���� #����� �	��  

ω ω ω1 1
'

;= − H  

ω ω ω2 2
' ;= − H  ( );'ω ω ω3 3= − H  

ω ω ω4 4
' ;= − H  

ω ω ωH H H
' ;= − = 0  

ω ω ω0 0' .= − = −H H  

 ������ ����
���� ,..., '
2

'
1 ωω  ��
�'�� ��#�' �������� 
����� 

����
���� 
	��
 �������� ����
	, �����	����� ���������� �
�� ��!�	 
���	���� �	
 �	��, �
  � ����	���� ������� (�� �
	���	����) ���	����	�, 
����� ���������� ����
 ��#��� ����������� 
�
��.  

�	���

	�,  

i
z
z

H
1 2

1

2

2

1
− = = −( )

'

' ;
ω
ω

 

i
z
z

H
2 4

2

4

4

2
− = =( )

'

' ;
ω
ω

 

i
z
z

z
z

z
z

H
1 4

1

4

2

1

4

2

4

1
− = = −

�

�
�

�

�
� ⋅
�

�
�

�

�
� = −( )

'

' .
ω
ω

 

 �	��	!���, "� � ����	����� �����	������� ���������� �
� 
�
	���	���� �����	� � ��!
	� �
	��$���� ����
� ��������� 
	�
�. 

(�� ��������� ������ �	�	� ����� ��
��������'���� ��� �	���	�� 
��������, 	
� ���	��$ �������� �	�#�
�� $���, ���� "� �

'�	$ � ���� �

	� 
��� 	#��
'��� 
����� ����
���� ��������� �	
�� ���	����� %!���	. 
(��������� �� �������� � �	
�� �����#  

ω
ω

ω ω
ω ω

1

4

1

4
1 4

4

1

'

'
( ) .=

−
−

= = −−
H

H

Hi
z
z

     

4����
	 -�

��	, ����� �	���	�	 �����	
���� ��������� ���� 
�
	���	����� ���	�����, � �	�	
����� ���
��� �	����$���� �	
 



ω ω
ω ω

1

4
1 4

−
−

= −
H

H

Hi ( ) .                                                (3.9)  

+� )����
	 ���	���
��	 �
� ���� �'��� ���� �
	���	���� ���	������, 
��#�	!���� �	 ���. 3.17, � ��!� ������������ �
� �
����� ���� ��
�
� ��	
�� 
� ��
�����' �����	����� ���������� � ��	��� �	�����, �
� ����� �	���	'�� 
�����	������ ����������� ���������� ������������ ���������� 	������	� 
(��#��  ������������� ���
��� � �� �
	���	���� - �� ��������� ����
��).  

%
� �����������	���� ����� �
	���	����� ���	����� %!���	 

i
z
z

H
1 4

4

1
− = −( ) .      

5�	
������ ��!��� �	���	�� �����	����� ���������� �#������� 
�
	���	���� ���	������ ����� ����.  

*	
, �
� ����� (���. 3.17�) �����������	���� �
	���	����� 
���	����� %!���	  

i
z
z

z
z

z z
z z

H
1 4

2

1

4

3

2 4

1 3
− = −

�

�
�

�

�
� ⋅
�

�
�

�

�
� = −

⋅
⋅

( ) .                             (3.10)  

%
� ���� (���. 3.17 �, �, �) �
	���	���� ���	������ %	���	  

 i
z
z

z
z

z z
z z

H
1 4

2

1

4

3

2 4

1 3
− = ±

�

�
�

�

�
� ⋅ ±
�

�
�

�

�
� =

⋅
⋅

( ) .                           (3.11)  

�	�	�	$��, "� ��	
� “−” �	���	�� �
� ��������� ����
 ��#��� 
�
�� � 
��������� �	���
�����, 	 ��	
� “+” �	���	�� �
� ��������� ����
 ��#��� � 
���������� �	���
�����.  

����
��
	 ������� (��
�
� � ��	
� i H
1 4−
( ) ) )����
 -�

��	 �
	���	���� 

���	������ %!���	 � %	���	 �#����
'$ ��!� ����� ���� 
����	����� 
��!
������.  

-������� ��
�
�
	 �	�	� �	 ����	����� �����	������ ����
 ���
�� 
�	��	���� �
	���	���� �����	� %!���	 � %	���	.  
4. �	�	�� � 
����	������� 
 

4. !	�	�� � �����	
����"� 	�	���� �	�����
���� 
 ��	��
	���� �����	� 

$�
��� 1. -���	���� ��
����� �����	������� ���������� i H1
4
−

( )  

�
	���	����� ���	����� �	 �����' (���. 3.19). 0��
	 ��#��� 
�
��: z1=20, 
z2=20, z4=60. ��
��� 4 ��
��	�� �	���� � 
������� �����	��.  

%������: 
1. �	������ )����
� -�

��	 � �	�	
����� ���
���  



.��. 3.19. ,���	
����
���	 %!���	
� ������������
�	��
����

ω ω
ω ω

1

4
1 4

−
−

= −
H

H

Hi ( ) .  

2. *��� "� �	 �����' �	�	�� ω4=0, 
����������� )����
� -�

��	 �
���� 
���
������ ��
���� ����
���
	 
���� �	����� �	 
��	�����
 �� ���
��� 

 − + = −

ω
ω

1
1 41

H

Hi ( )     

	#�                                                    

 i iH
H

1
4

1 41− −= −( ) ( ) .                                            (3.12) 
3. ��	����� ��	����� �����	������� 

���������� �#�������� ���	�����  

i H1
4
−

( ) = − = − = −
z
z

4

1

60
20

3  

� ���
� �����	���
� ��
�����  i H1
4
−

( )  � ���	� (3.12) ��	����� 
#�
��
�
�: 

i iH
H

H
1

4 1
1 41 1 3 4− −= = − = − − =( ) ( ) ( ) .

ω
ω

 

$�
��� 2. -���	���� �����	����� 

���������� iH−1
4( )  �
	���	����� 

�����������	����� ���	����� %!���	 �	 �����' 
(���. 3.20). 0��
	 ��#��� 
�
��: z1= 30; z2= 40; 
z3= 20; z4= 90. ��
��� 4 ��������.  

%������:  
1. �	������ )����
� -�

��	 (3.9) 

ω ω
ω ω

1

4
1 4

−
−

= −
H

H

Hi ( ) .  

2. -���	���� ��	����� �����	������� 
���������� �#�������� ���	����� �� )����
� 
(3.10)  

i
z
z

z
z

z z
z z

H
1 4

2

1

4

3

2 4

1 3
− = −

�

�
�

�

�
� ⋅
�

�
�

�

�
� = −

⋅
⋅

=( ) −
⋅
⋅

= −
40 90
30 20

6.  

.��. 3.20. ,���	 ������-
����	����� ����
��'�	�	
%!���	 (� �����������

�	��
����)  



3. ��	����� � )����
� -�

��	 ���������� 
ω
ω

H
Hi

1
1

4= −
( ) . %
� ����� 

���������� )����
� -�

��	 � ��	���	���� ω4= 0 � ���
���  
ω ω

ω
1

1 4

−
−

= −
H

H

Hi ( )  

� ��
��	$�� ���
������ �	������ 	
��#�	���� ������������:  

− + = −

ω
ω

1
1 41

H

Hi ( ) ;  
ω
ω

1
1

4
1 41

H
H

Hi i= = −− −
( ) ( ) ;  

ω
ω

H

1

= i
i iH

H
H−

− −
= =

−1
4

1
4

1 4

1 1
1

( )
( ) ( )  .                             (3.13) 

(��
� �����	���
� � ���	� (3.13) ��	����� i H
1 4−
( )  ����!��� 


�
��
�
�:   i
iH

H
H−
−

= =
−

=
− −

=1
4

1 1 4

1
1

1
1 6

1
7

( )
( ) ( )

.
ω
ω

 

 
$�
��� 3. -���	���� �����	����� 

���������� iH−1
4( )  �
	���	����� 

�����������	����� ���	����� %	���	 � ����	 
���������� �	���
������ �	 �����' (���. 
3.21). 0��
	 ��#��� 
�
��: z1 = z3 = 100; z2 

= 99; z4 = 101. ��
��� 4 - ��������.  
%������:  
1. -���	���� ��	����� 

�����	������� ���������� �#������� 
�����	�� �� )����
� (3.11)  

i
z z
z z

H
1 4

2 4

1 3
− =

⋅
⋅

=( ) =
⋅
⋅

=
99 101

100 100
0 9999, . 

2. ,
�����	$���� ���	��� (3.13), 
�����	��� � �	�	�� 3.5 �� ������������ )����
� -�

��	 �	�	
����� ���
���, 
���� ��	�����  


�
��
�
�:    

i
iH

H
H−
−

= =
−

=1
4

1 1 4

1
1

( )
( )

ω
ω

1
1 0 9999

1
0 0001

10000
−

= =
, ,

. 

 

.��. 2.21. ,���	 �
	���	���-
�� ����
���	 %	���	 � ����	
���������� �	���
������  



$�
��� 4.  -���	���� �����	����� ���������� iH−1
4( )  �
	���	����� 

�����������	���� ���	����� %	���	 � ����	 ����������� �	���
������ �	 
�����' (���. 3.22). 0��
	 ��#��� 
�
��: z1 = 160; z2 = 150; z3 = 110; z4= 
=120. ��
��� 4 ��������. 

%������:  
*��� "� �	�	 �	�	�	 ��������$���� ��� ����������� ��
�
� 

����
����� ����	���
	��, ���#��� �� �	 �����' ������� ����������� �	�	��.  

1. -���	����        i
z z
z z

H
1 4

2 4

1 3

150 120
160 110

45
44− =

⋅
⋅

=
⋅
⋅

=( ) .   

 
2. ��	����� 
�
��
�
�: 

 i
iH H−

−
=

−
=

−
= −1

4

1 4

1
1

1

1
45
44

44( )
( ) . 

�	 ���

	�� �	�	� 3.6 � 3.7 
��������� �� ������
�, "� �
� ���	������ �, 
� � � (���. 3.17)    

i
iH H−

−
=

−1
4

1 4

1
1

( )
( ) .  

(�� i H
1 4 1− →( )  ����!�$�� iH− → ∞1

4( ) .  

 
"� #��� i H
1 4−
( ) <1, �� ���� ���������  

iH−1
4( ) >0. 

 
"� ! #��� i H
1 4−
( ) >1, �� ���� ��	������ iH−1

4( ) <0. 
� 	�	
��� ����
������ ���

	��� ����
�$�� ��
�
� 
����	����� 

��!
������ �
	���	���� ��#�	���� ���	������ �� ����	�� �, � � �.  
(��
� ��	�	
������ �����	��� ����
��	��� ������� �	�	� ������� 

������
�, "� 
�!�	 �� ���� ��� ��
�����	��� �� � �
���� ����
���	 �	$ 
��	
������ ��	�	��� �����	������ ���������. (�� �����, �
 �!� #�
� 
�
	�	�� ��"�, ����
�$����, "� � ������ �����	������� ���
	 ������$���� 

��)���$�� 
������� ��� (���. � [8] �����
 IV).  

�	��	���� �
� ���� �'����� ���� ���$������, ��	
����� 
��
���������	�� ��	�	���� �����	������ ��������� � ���������� �� ��	�	���� 
��%.  

&��	� �: 

i H1
4
−

( ) = 3 ... 9 ��� η = 0,99 ... 0,97;  

i H4
1
−

( ) = 1,13 ... 1,5 ��� η = 0,996 ... 0,99;  

.��. 3.22. ,���	 �
	���	���-
�� ����
���	 %	���	 � ����	
����������� �	���
������

 



i H
1 4−
( ) = -(2 ... 8) ��� η = 0,985 ... 0,96.  

C��	� �:  

i H1
4
−

( ) =2 ... 17 ��� η = 0,99 ... 0,97.  
Cxe	� �:  

iH−1
4( ) = 8 ... 30 ��� η = 0,90 ... 0,75.  

&��	� �:  
iH−1

4( ) = 25 ... 300 ��� η = 0,80 ... 0,40.  
&��	� �:  

iH−1
4( ) = 1 ... ± ∞  ��� η = 0,9 ... 0,0  

(�	���

	�, ��� iH−1
4( ) =10000; η = 0,015).  

 
 

5. ���
���#�� �	��
	��� 
 
1.  
� �	��������� ����� �
	���	���� �����	� -� ��	$��?  
2.  
� ������� �����	�� �
	���	���� �����	� � ���������� � �� 
�
	���	�����?  

3.  
� 
����	����� ��!
������ �	'�� �
	���	��� �����	��?  
4.  
	 �
	���	��	 �����	�	 �	���	$���� ��)������	
���'?  
5. ,)����
'��� ����� ������ �����
� ����
	 (����� -�

��	).  
6.  
	 �
	���	��	 �����	�	 �	���	$���� �#������'?  
7.  
 ����	���� �����	����� ���������� �#������� �
	���	���� �����	��?  
8.  
 ����	���� �������� 
����� ����
���� ��#�	���� 
�
�� �
	���	���� 
�����	�� �������� ����
	?  

 


